1.  ofz 2”3 22 AABC o4 AD1BC, ACLBE ©|1, BE ¢ AD

ol -2 p gt otk BD = DC = 6em, PD = 5em 4 o, AP 9
Zdol|=?

B ~6em- "D ~6em-~

@ lem @ 1.8cm ® 2cm

@ 2.2cm 3 2.35¢m



ohe o] gPAbHs ABCD oA AF = 4cm, FC = 6cm, BC =
9cm ¢ ©f, DE 9] Zo|& #31Hd?

@ 2.5cm @ 3cm ® 3.5cm

@ 4em ® 4.5cm



3.

thS 1399 gABCD &= ZAtzgo| 1

E%?J o] 52 A0
t}. AB = 12cm, BC = 16cm, AO = 10cm ¥ W], EF 2] Zdo|=?

A\ F D

/ 10cm

/ \

12cm

\ (0)

\

\E

B~ 16em-- C

@D 12cm ® 13cm 3 14cm @® 15cm 3B 16cm



4. & 139 AAZE ABCD oA AB = 6cm, BC =
Sem olth. PQ 7 hZH4 BD & 440|528 1, PQ
J-5HH?

A P D
\
\
\
5cm” O 6’CIn
7/ 1
/ Q /
B--gem---"C
1 2 2
@ 13Zcm @) 13zcm ©) ?50111
@ —cm ® —cm



5. S a3 A /BFD S 37|17t e AL?

A

® /ADC @ /EBC ® /BAC

@ /BDC ® /ABE



